EARAROBREBRT —5 XN—ZXBISH—F

2024548328 ) 1EEEIB

N8 3%C1 YSR3® B
[AE%) 1% :800,00H ~ 23%&:280,000H  337%&:160,000H . 43#&:120,000  ~ 5 7&:80,000 H
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
. At—H : 33 - FARE (@)
1172 7| =ox=9— B3 & 1.(3_4).2 3-3-3-2 | 40.0 3 (4_716) #DELEI\1T§¥
R:F/INS—R 8B:STPRAY h— NEFHUS
3 | EREE 1:34.3 1-1-1-1 | 40.4| - 1 476 | ERERsL (EH)
1 . IDELEZes w3 ah ) Gy | B —BETr—L
RiIVvRIVIA B:RDAAYITIVY ZR&ET77—LA
— KULEE : -2-2- - ArifE (EE
3 6 1F IS4k 303 Zu 1.(395).8 2-2-2-3 | 41.8 5 21_735) ﬁﬁ*ﬁ?( )
RiT4IRT—LEY BiAAFTRATYS W7 7 — L
» 3 | ALLBEXEB 1:36.3 4-4-4-4 | 41.5| - 4 530 |dtEFESL (Fhl)
41111 | N—FKX=2)L # 5.0 6 (g |PITAL. THURK ZFATI (
RiRIT T« B:XA=TI THES
© 3 | BEFHT 1:37.2 5-5-5-5 | 42.2| - 2 478 | WVHERE (FERR)
5/5(5 | AXN—MNFEY " 8.0 ©) “7) ) IR« VT2
RYSRMOD B:NOVISAY RIS
, 4 3 | WE#X 1:38.2 6-6-6-6 | 41.9| — 7 501 | Bt (EM)
6 4| \NTY 55.0 ®) “1 B
RNV vH—)L B:N\vE—h—=T o BE
< aEZ : -7-7- - HoEx (Fk
7 3 FavhAYEA 4 3 55% (;f?%;%) 7-7-7-7 | 43.4 6 18)2 nmlﬁgm (FEl)
R:ANTT—IN B:IO0RNS—R VAL EIN
@ 1—F—&RIEL
13—7— 2,6,7,1,5,4,3
2d—73— 2,6,7,1,5,4,3
33— — 2,6,7,1,5,4,3
43—F— 2,7.6,1,5,4,3
o ILRE
BB 7 440M JA R 2-7 170M 5 & 2-7 230 3EE 2-6-7 1,310
B B 7 180M9 6-7 5004 =51 7-2 820M 3EH 7-2-6 5,860
2 110 2-6 610/

ABIC OV TRUTEREERRODDZE. THRIIZEL.




